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const int MAXN=5e5+5,MAXM=20;
struct Edge
int to,next;
edge  MAXN<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
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head|u|=edge cnt;

int p/MAXN];
multiset<int> dp[MAXN];
void dfs(int u,int fa
dplul.insert ;
plul=fa;
int i=head|u];i;i=edge|i].next
int v=edgel[i].to;
==fa ;
dfs(v,u);
dplul.insert(*dp(v].rbegin()+1);

struct ST
int d/MAXN|[MAXM|, 1g2 MAXN];
void build(int *a,int n
192 =0;
_rep(i,2,n
1g2[i]=1g2[i>>1]+1;
_for(i,0,n
dli =alil;
int j=1; (1<<j)<=n;j++
_for(i,0,n+1-(1<<j
diil[jl=max(d[i][j-1],d[i+(1l<<(]- j - :

int query(int lef,int rig
int len=rig-lef+1;
max(d[lef![1g2/len]|,d/ rig-(l<<lg2[len])+1][1g2|len ;

stl,st2;
int mvl1[MAXN],mv2 MAXN];
int solve(int 1,int r,int pos
1+1==
mvl l]-mv2[r];
pos==
max (mvl/ l]/-st2.query(1+1,r),solve(l+1,r,!pos));

min(stl.query(1l,r-1)-mv2/r],solve(l,r-1,!pos));

int main
int n=read int(),s=read int(),t=read int();
_for(i,1,n
int u=read int(),v=read int();
Insert(u,v);
Insert(v,u);

dfs(s,0);
vector<int> vec;
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int pos=t;
pos
vec.push back(pos);
pOS=ppos|;

reverse(vec.begin(),vec.end ;
_for(i,0,vec.size
int v=vecl/i];
il=vec.sizel()-
int v2=vec|i+l];
dplv].erase(dp[v].find(*dp[v2].rbegin()+ ;

_for(i,0,vec.size
mvl[i]=*dplvec[i]].rbegin()+i;
mv2[i]=*dplvec|[i]].rbegin()+vec.size()-i-1;

stl.build(mvl,vec.size :
st2.build(mv2,vec.size ;
enter(solve(0,vec.size()-1, ;
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